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Guatient Identities Reciprocal Indentities
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snB= —= sch= —
{ang — Sing csch 3ing
cosd e | e
cosh oS3 = sach -~ cos8
€9 ="Ging 1 1
ang=Toig = g
Pythagorean ldentities Even'Odd Indentifies
I8 + cos 8 = 1 =in(-8) = -sing cos(-8) = cosB
sec 8- tan's =1 tan{-8} =—tan®  col(-8) =-colB
esc’8 - cot'B =1 csc(-B)=-tsc8  sec{-8) = sech

Colunction denfilies
sin —E—E)=|:usﬁ :us[ﬂ—ﬂ)=5inﬂ

2
Lan E-E)=mm
2
L1

Double Angle Identities
5in{28) = 2 sind cosd
cos(28) = cos'B - sin'8
cos(28)=2 cos'8 - 1
cos{28) = 1- 2 sin‘8

2 tan8
tan = -
(26) 1 -1an“8

Sum to Product of Two Angles
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cosB - m5¢=—25h1[ﬂ—;"-) sin [“—Et)

Sum/Difference Indentities

sin(é = §) = sing cosd + cosd sing

cos{8 = ¢) = cosB cosd = sind sing

tanB + tan ¢
1#1ané tan §

cosiB = §) =

Hall Angle Indentities
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@8 = 7 cos(28)

Product to Sum of Two Angles

cost coisg = 12058 0)* o8+ §)

sind cos = 5@+ 6) + sin® -4

[sindEl + §) + sin{f - }]

cos8 sing = 5
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Trigonometric Identities

tan{a+b) =

tana +tand
1 —tan atan b
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Product-to-Sum Formulas

sin asin b = -E][ms{a— b}—mﬁ{a+b]]

cos cmbzé[ms{a— b) + cos(a + b)]

sinacos b =%[5iﬂ{a+b}+sin{a—b}]

cosasin b =—1;[sin{a+ b)—sin(a - b)]
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Pythagorean ldentities Even/Odd Indenfities
sin'8 + cos’8 = 1 sin(-8) =-sinB cos(-8) = cost
secd-lan'g=1 tan{-8) =-tan®  col(-8) = -colB
tsc’B - cot’8 =1 cse(-8) =-tsc8  sec{-B) = sech
Colunction ldenlities Sum/Difference Indentities
Sin —%—E)::usﬂ :us[%—ﬂ)zsinﬂ sin(@ = §) = sing cos) = cosd sing
\
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EEE"E 8 )=sech sec 5 8) =cscB cos{B £ g)= 1= tand tan ¢
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Double Angle Identities Hall Angle Indentities
sin{28) = 151!‘:5 |:|:|:5El1 | - 1 - cos(28)
cos(28) = cos™8 - sin‘a ="
cos(28)=2 cos'8 -1 cosln - 1 €os(28)

2
cos(28) = 1- 2 sin'B
tan(2e) - 21308 fan’a = —@H ;‘::T‘JIEB}
1 -ian'8
Sum o Product of Two Angles Product to Sum of Two Angles
ﬂriE*Ehi:Bm[B_;t)mE[_.i%t} sing sing = lcos(E - §) 'E'EU‘E{El-m]
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cosB mﬁﬁ-zms[—z‘i)tnﬁ(%) sme costh = 5

cnsH—msﬁz—Eﬁm[E—;"-)sjn [ﬂ_zt) cosa sing = EErniEw:-;slnIE—ﬁ}]
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